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Cons1der the following statements

Statement AI:

The atmosphere i Teated more by i incoming

‘\\i’l@{_f adiation than by terrestrial radlatron

o

o

' KSPC-P-GSPO

» ‘Wave radiation.

': ‘respect of the above state

" (b)

Statement IT =
Carbon dioxide an,

d other greenhouse gases in
~ the ‘atmosphere

are good absorbers of long

+ Which one of the foll
ments‘7

(a) Both Statement-I . and Statement I are

correct  and Statement-II
Statement-I

correct, but StatementII does not
explam Statement I

Statement I3 is correct but Statement 11
-+ iSincorrect -

. (d): ‘Statement-I is mcorrect but Statement II

s correct o

Consider the folloWing statements :
Statement-I:. ' -

Thickness of the troposphere at the equator is
much greater as compared to poles

Statement II

At the equator, heat is transported to great
helghts by strong convectronal currents. -

" Which one of ‘the followmg is cor_'rect in

respect of the above statements ?

(a) Both StatementI and Statement II are
correct and Statement-II
Statement-I :

(b) Both ‘Statement-I and Statement II are.

correct, but Statement Il does not
explain'Statement-I

(c) Statement- I is correct, but Statement 11

is incorrect

" (d) Statement-Iis m(I:orrect but Statement—II

is correct

owing is correct in

explains’

Both Statement-I and Statement II are

explams )

(3-A)

3 Consider the following :

1. Pyroclastic debris
2. Ash and dust

-3, Nitrogen compounds-

4. Sulphur compounds

How many ‘of the above " are ‘products of
- volcanic eruptions ? ) ’

(a) . Only one
() Only two
(c). i Only three
(d All four

Which of the following is/are correct ‘
mference/mferences from 1sotherma1 maps in
the month of J; anuary ? ?

_ 1. The 1sotherms deviate to the north over -

the ocean and to ‘the south over the' :
contment :

2. -The presence of cold ocean currents
Gulf Stream and North Atlantic Drift

* make the North Atlantlc Ocean colder - .

~ and the 1sotherms bend towards the

north; - i
Select the answer using'the code given below :
' (a) 1 only ’ L '
(@) Zonly. -

(¢) Both1l and 2 O PR W T
(d) Neither.1nor 2

. Which of :the following countries are well

known as the two largest cocoa producers in
the world ?

(a) Algerla and Morocco

b Botswana and Nalmbla
(c) Cote @'Tvoire and Ghana’
(d) Madagascar and Mozambique
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Wlth reference to the Himalayan Tivers:
Jommg the Ganga | downstream’ of Prayagraj
from West to East, which one of the following
sequences is correct ?

ey Con51der the followmg countnes
- ,1."-4-F1nland ' e

(a) Only one
(b) Only two
(c)  Only three
(d) Allfour -
KSPC-P-GSPO

)

W

[C)

8. - Norway ...

 border with the North Sea ?

(a) Ghaohara Gomati — Gandak “Kosi
] Gomatl Ghaghara Gandak — Kosi
' Ghaghara— Gomati — Kosi — Gandak
' Gomati — Ghaghara — Kosi ~Gandak

{©)
@ -

_Consider the following statemen_t_s T

Statement-I :
-Rainfall is one of-the reasons for weathermg
.of rocks.

Statem'ent-II K
Rain water contajns_
solution.

carbon dioxide in

Statement-III : ,
Rain water contains atmospheric oxygen.

" Gonisider the following information : ...

Waterfall _ |Region . |River
1 [Dhuandbar - |Malwa ~ |Narmada:
9 |Hundru  * |Chota  |Subarnarekha
B Nagpur
'13. | Gersoppa |Western |Netravati
Ghats L

P

., ‘In how. many of the above rows is the glven i
' mformatlon correctly matched 7

@

‘Which one of the following is correct in |. -

respect.of the above statements ?

(a) Both ‘Statément-II and - Statement III
’ are correct and both of them explam
N Statement—I g :

" are correct, but only one -of them
' xplams Statement-I
Only one of the Statements 11 and TH is
. ‘correct and that: explams Statement-I -
Neither Statement 11 nor Statement-III
1s correct : :

_(C)l‘

9, Germany

4, Russia

How many of the above countries have a

10.
. Both Statement-II and Statement I | R

(5-A)

@

Only one. .

(b). Ohly 'cwo

(c) A]lthree e -
None

Con51der the fo]lowmg mformatlon

' Regwn Name of the - -Type.of .
- |mountain mountain
o . _|range L,
'|1.|Central |Vosges Fold mountain-
Asia - fETw el b
9. | Europe " |Alps " " Block -
E A a mountain.
3. | North-"- | Appalachians / ‘Fold mountain |
America ' T Ty
4. |South  |Andes - " | Fold mountain
: America :

’ In how many of the above Tows is the glven

mformatlon correctly matched 2

(a) Only one
| (h) ‘Onlytwo-’ &
.(¢) Only three
(@ All four.



. (b)

@

@

Wxth reference to the Hunalayan rivers:

Jjoining the Ganga downstream’ of Prayagra]
ﬁ'om West to East, which one of the following
sequences is con'ect ? :

Gandak— Kosl ™"

Gha(rhara ~Gomati -
“(b) . Gomati - Ghaghara Gandak - Kosi -
(c) Ghaghara ~ Gomati — Kosi — Gandak
@

Gomati — Ghaghara — Kosi - ‘Gandak

_Consider the following statements :

Stdtement I:

-Rainfall is one of. the reasons for weathenng

-of rocks.

Statement 1T :

Rain water contznns carbon dioxide in
solution.

Statement-II] :
Rain water contains atmospheric oxygen.

‘Which one of the followmg is correct in

respect.of the above statements ?
(2)
' are correct and both of them explam
 Statement- I :

‘are correct, but only one -of them
' explams Statement-I -

Only one of the Statements II and TII is.
) fcorrect and that:explains Statement-I -

N elther Statement-II nor Statement HI

1s correct C o

_(C)"

. Con51der the followmg countnes

~ Finland
‘2. : Germany

3 . NOI'WaY

4. Russia

How many of the above countries have a

- border with the North Sea ?

Both Statément-II and - Statement IH 3

(a) Onlyone

(b) Onlytwo

(¢)  Only three .'
(d Allfour -

I~

-
Z

. Consider the following information : ..

Waterfall | Region |River
1. |Dhuandhar - |Malwa ~ | Narmada
2. [Hundra - {Chota  |Subarnarckha
‘ "L ‘Nagpur :
3. | Gersoppa |Western |Netravati
Ghats £y =

- .. 'In how, many of. the above 1 rows is the given - :

@

10.
- Both Statement 11 and Statement-IIT L

mformatlon correctly matched 7

Only ahe; .
(b). Only two
© Allthree- '
None B

Con51der the fo]lowmg mformatmn

' Regwn Name of the - Type of
mountain mountain
_ . range I
'|1-|Central | Vosges Fold mountain. |
Agia- ¢ = e [
2. |Europe ' |Alps = Block
' a g " " |mountain
3. |North - | Appalachians | Fold mountain |
America ’ T
4. {South  |Andes - " | Fold mountain
. America :

‘In how many of the above TOWS is the glven

mformatlon correctly matched 2

(a) Onlyone
(b) Onlytwo
.(c) Only three

@ Al four
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S TR AW1th reference to “Conohs force whrch of'the.
»'followmg statements 1s/are correct i

-

Consxder the followmg mrports

1° Dony1 Polo Arrport S
; 1. Itincreases w1th mcrease m wind velomty

Kushmagar Internatlonal Alrport

2. Ttis ma)umumvat the poles and 1s absent
) Vuayawada Intematlonal Axrport atthe’ equator e

In the recent past wh1ch of the above have 17 Gelect the answer usmg the code g1ven belows

been constructed 2 as Greenﬁeld prOJects ?

1 only
(a) - 1and2only (b) -Zonly
® 2andgonly . i r_(c)r-'_Bothland?.
RORE! and 3 only- Wy MR P T Nextherlnor2

@ _.-_1,2‘and3' S 15. OnJune21 everyyear,wmchofthefollowmg

DR ' e ' ) latitude(®) e enence(s) a sunh ht” of more
12, W]th referenceto‘ﬁ;vater vapour” whlch of the 8 e(s %D 8

‘than 12 hours" o e ST
following statements is/are correct" ‘ , :
L It is a gas, the amount of - wh1ch L Equator :
. decreases with altltude "_:”-f_.- D 2. -Troprc of Cancer ‘ L
C 2. Its percentage is maxrmum at the poles . X 3. L fl‘roplid-ﬁﬁcapﬁcorh? T

_ Select the .answer usmg the code grven below a Arctxc Circle -

@ . '71 only Y FRF e I Select the correct answer usmg the code glven
“() 2only * . : . ; .
below
()  Bothland?2 - -
T (a) lonly
(d) Neither 1 nor 2- o
, : : TS ‘ (b) 2only
13.  Consider the t‘ollowing descriptioh i (c) 23 and‘4 8 Sl
.. _Annual and dally range of temperatures ' (q) : 2and4 U
o -.llls low. o R . 16'-. One of the followmg regions: has the world’s
. Prec1p1tat10n occurs throughout the year largest troprcal peatland ‘which holds about
. Prec1p1 tation’ varies between sl » three years worth of global carbon emissions
oy ' from fossil:fuels; and ‘the posgible destructlon
= .,50 cm = 250 o, ; _
; ~ of which can exert detrimental’effect on the
What is thJs type of chmate? ‘ global chmate Which one. of the follomng
(@)" Equatorial climate.. = . 1 denotes that reglon L
 ®) Chinatypeclimate .., . @ Amazon Ba‘?}? i o
(© Humid subtropic_all\climate ‘_ e » (b) Congo l_dhasm

(c) Krhon _ldasin--! ;

(d) - Marine West coast climate.. , B P o
; (d)  Rio dela Plata Basin

" KSPC-P-GSPO (T=A)



e — porar g e P
T P gl 3 e

/17 ﬁmﬂwwﬁ%ﬁnﬁ%mmm }gﬁqﬁm e

e (PFAS)% ﬁ S e g
i ﬁaﬁﬁﬁq Hﬁ’f WMF{ g @agﬁ(—gém)ﬂ-

| Pl Wﬁ@mﬁﬂaﬁ(xﬁﬁﬁﬁ)%;?

««wﬁﬁ'ﬁmm%maﬁél |
2. PEAS Wi ﬁ st & el | (a) %b‘c!a@ )
3. PFAS%SWM%W N
agaﬂ%mﬁzﬁmﬁm%y (c) mﬁ;ﬁ:{
SR eI T 1 «_1) ﬁ%q‘é '
() Fawi1diRg - ' ‘
S ) FEE 23 SRR ' B
© ‘-?malsﬂts Z{’ ﬁqﬁﬁaﬁmmﬁw@rﬁﬂ
@. 123ﬁt3 o et et
S I R Wﬂsﬂ tm—em @ T i (wavr)
ca | e, 1972%;31%4‘1? ‘uﬁ-@ag’ % 3o
¥ ﬁwi%fﬁaaq(ﬁaua?rﬁrg | it
1 R | o,
ni e Oy RGN S e s ﬁmﬁrﬁaﬁ i3
g e ] ety N
“'5:”'_“{(‘_"1“) ‘ '(g) wxaﬁanaﬁmﬁ%w-
: msﬁﬁ%ﬁmﬁwﬁmaﬁm ",WIIWIﬁW@IW%
s )tnémzﬁ%v -  (b) FoI AR FI A azﬁ % (EEt
@ e " anlﬁw:@?m%

o VRN o i
(O FEEER | ce e Sl @ mm‘é% ﬁ-ﬁ@wu@ﬁ%

@ wﬁqra P e g @ 'm-m-&ﬁqgf%,MW-naﬁ%‘ |

KSPC-P-GSPO y s e e B O

e
L e d ALY




/ Wﬁxf\“

eference “to, - perﬂuoroalkyl.

- With .

e polyﬂuoroa]kyl substances (PI'AS) that are

used in makmg many - consumer products,

= mn':lder the followmg statements :

_z»gPFAS are found to be. w1despread in
: -‘dnnkmg water, food and food packagmg

. 'matenals

2. . PFAS are not'easilvy,"degraded in the

envn‘onment

3 Per51steut exposure to PFAS can lead to .

- bloau,umulatlon m am.mal bodles

'W}nch of the statements glven above are

correct ?

_'(a) 1 and 2 on]y
EOR "2 and 3 only

(@ landSonly = ¢ -

(@ -1,22nd3

Consider the following :-

18.
| 1 A, _Carabld beetles
:2'. i ;;Centlpedes e
i Flies "
4. Tetmites
. 5. ":Wasps
.Parasﬂ;md spemes ‘are. found m how many of |’
A the above k1nd of organlsms ?
v__(a)..Onlytwo e IR
(bi- - Only three
(¢~ Only four
: @ . Allfive : l
KSPC-P-GSPO

AN T

19'.».

P AR SR

’

.,Consi.der the following plants : -...-

1. Groundnut ,

20.

2.. Horse-gram .-

_ 3'. Soybean
_How many of the above belong to the pea

famlly"
(a) On_ly one
® Onlytwo ..

_ (c) . Allthree
"'(d),_’. Nome , . .-

Consider the following statetnents-: 7

Statement I

The Indian Flymg Fox is placed under the
, “ermin” category in the Wﬂd Life
" (Protection) Act, 1972.

Statement II

" The Indian Flymg Fox feeds on the blood of

(92A)

. other. ammals

Which one of the toHotving is :‘correct in A

"respect of the above statements’?» S

'ta) Both StaternentI and Statement—l_l are

correct and Statement II
StatementI i ) :

explains

..-'.'"(b)'“‘;Both StatementI and Statement II are:

but ~ Statement-II " does’
explain Statement-I .

correct, not
(c) Statement-I is correct, but 'Statexnent;II :

is incorrect . i ' '
(d) Statement-I is incorrect, but Statenlent-II

is correct
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'22.  Consider the following statements :

. Statement-I :
Many chewmg gums found in the market are

" considered a source’
pollution.

Statement-II :

base.

Which one of the following is con‘ect in

respect of the above statements.?

(a) Both StatementI and: Statement II are |

correct -and b_tatement-II

Statement I
(b) Both Statement-I and Statement II are

-explains

correct, but Statement-II does not explain |-

23.

"Statement-I
(c) Statement-I istcorrect, but Statement-II is
incorrect
(d) Statement-I is mcorrect but Statement-II
is correct .
Cons1der the followmg paus .
Anim
’ Country ‘ naturzl;?zl;lz?altn e
1. | Brazil " |Indri -
2. |Indonesia ~. .. |Elk
3. Madagascar i Bonobo

How many of the pairs glven above are
correctly matched ?

Froghoppet and Pond

Jof environmental

* Many chewing’ gnms contain plastlc as gum

94, " Consider the following statements regarding

_ World Toilet OrgamZatlon
1. Itis one of the agencles of the: Umted
' Natlons Sait st
9. World Toilet Summit, World Toilet Day
and World Toilet College‘ are the
initiatives of this organization, to
inspire action to tackle the’ global
: sanltatlon cn51s o P
3. The main focus of its ﬁmctlon is to grant o

funds to the least developed countries
. and developing countries to achleve the -
end of open defecation. -

- Which of the statements glven:abov_e is/are

* correct?
() “2only
® - 3only
© lad2
@ .2and3 .

25. A Cons'idel: the followmg stater‘ne_ntsf:

1. Lions'.dO'.not«'have a particular breeding
©-.season. ‘
2; Unlike most other b1g cats cheetahs ‘do
. notroar - e e T . .
3. Unlike: ‘male’ hons, male leopards do not -

‘proclalm thelr temtory by - scent

marking. i

“ Which of the- statements glven above. are

correct? .

(@ 1 and 2 only -
(b) 2and 3 only
© | Land 3 only 4
(d)

() Onlyone
(b) Only two :
() Al three 'J '
(d) None ‘
KSPC-P-GSPO

1,2and 3

(11ZA).
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(a)-

26' Whlch ‘onie - of the followmg is - the" correct
descnptlon of “100 Mllhon Farmers”?.

It is a plntfonm fm mcelemtmg the

(b)
(@

{d)

1

2
3.
4

. systems tlmt, are net-zero ((,arbon)

27. Consider the following :

_ How many of the above are considered

“Distributed Energy Resources” ?

tranqmon towmds food and wntcr

nature- pomtwc and that aims to
increase farmer resilience.

It is an international alliance and a
network of individuals and farming
organisations interested 'in_ supporting

and strengthening the development of |.

the organic animal husbandry.: .

It is a digital platform fully infegrated
with service providers and built on
blockchain that lets buyers, sellers and
third parties trade fertilizers qmckly
and securely.

It is.a platform v&ith'_thé_ mission of
encouraging the farmers to form Farmer
Product Organisations or Agribusiness
Consortiums, thus - facilitating  the

access to global open markets to sell |-

their products

Battery storage

Biomass generatox“s

Fuel cells ' ) v
Rooftop solar photovoltaic units

(a) Onlyone
(b) Only two
7(c) Only three
(d) Al four
KSPC-P-GSPO " . (13-

28.

29..

Which one of the following'shows 4 unigite

relationship with an insect that has coevolved

with it ‘and that is the only msect that can ¢ '

pollinaté this trec’) e
(a) '
"~ (b)

(©
(d)-

Consider the follovﬁng :

1

>

.30.

A)

3.

How many ‘of the above have poisonous

'species among them ?

2

JFig o
" Mahua

Sandalwood

Silk cotton

Butterfiiés

‘ Fish

Frogs™ ..

(a) © Only one
®) Onlytwo

(o) - All th_reé |

(@) None

-Consider the foilowing :

1.  Cashew '

' Papéyal -
- 3. Rea san(iers

" How many of the above trees are’ actually

native to India ?

(a)

{(b)

(c)
(d)

Only one
Only two
All three

None

g
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. pu -

human body that’ dllates ‘blood vessels and

mcreases blood ﬂow ”

" (a) Nltnc ox1de .

; TGs are mmlature ﬁsswn reactors

" RTGs are used f01 powermg ‘the onboard (b) "Nltrous ox1de y

* | systems of spacecrafts - P () Nitrogen dioxide

3 RTGs can use Plutonium-238, which'is [ - @ Nitrogen pentoxide

a by- product of Weapons development

Whlch of the statements glven above are - _
 -correct ? : 34.  Consider the fo]lowiiig activities :
1.  Identification of nafcotics on passerigers

(a)‘ 1and20nly .
at airports orin airc;aﬁ:

b 2and 3'on1y_ B )
9. Monitoring of precipitation - -

(¢) 1land 3 only‘
@ 1,2and3 - R 3. -’I‘rackmg the migration of animals
» o e _ " In how many of the above activities can the

32.  Consider the following statements : . . radars be used ? =

Statement-I : (a) Onlyone
Giant stars live much longef than dwarfstars. | (b) ~ Only two
Statement 11 : N (© * All three )
Compared to dwarf stars, glant stars have a | (tl) I;Ione T

y greater rate of nuclear react_lons. ol

,Whlch one of the followmg 1s correct in| -
35. . Consider the followmg alrcraﬁ

.respect of the above statements AR O -
(a) Both Statement-I and Statement- II are | 1' ' Rafael g
correct and Statement-II. explains 2. MlG-29
Statement I : L ‘ 3 Te_]as MEK-1
{b) Both Statement I and Statement s " How' many of the above are consxdered ﬁfth
“‘correct, but StatementH does not| -
’ P . generation fighter aircraft ?
explain Statement-I L
. oo i (a) Only one
(¢c) Statement-I is correct, but Statement—II o
is incorrect ' ' ® v Only two
(d) Statement-I is incorrect, but Statement-II (c)  Allthree
is correct d None
KSPC-P-GSPO " (15-A)
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Controlled drug delivery in patlents
Mobile au—condxtlomng systems

KSPC-P-GSPO

Preparation of lndnetﬁii [ Tubricants

| elect the correct answer using the code given
"below :

'(a).. . lonly:

() land2only
(c) 2 and 3 only

. (d) 1,2and3 .

.37, Whlf'h one of the fol]owmg is the exhaust pipe

emission from Fuel Cell Electric Vehlcles
. powered by hydrogen ? _

(a) Hydrogen perohide _

(b)  Hydronium

(¢) Oxygen

@ Water vapour

38. Recently, the term

. hydropower” is actually and appropriately

" discussed in the context of wlnch one of the
following ?

(a) Irrigation ofte_naced crop ﬁelds o

& Lift irrigation of cereal crops

(© - Long duration energy storage -
©(d) Ramwater harvestmg system

'39. “Membrane Bioreactors” are often discussed

in the context of :

(a). " Assisted reproductlve technologles
(b)  Drug delivery nanotechnologies -
() Vaccine production technologies

(d Wastewater tneatment'technologies

40. With reference to the Indlan economy, - )
Lending |-

“Collateral - Borrowing and’
‘Obligations” are the instruments of : -

(a) * Bond market
(b) Forex market
(¢) - Money market
B (d) Stock market

i h of the followmg are hydrogels used ?

“p@ped-storage :

41.

(17-A)

The- total - fertility rate in .an ‘ecofiomy -is' -

defined as : g

(a)  the number-of: children born.per 1000 -

people in the population’in a year.

(b) the numbcr of children born to a couple

in their lifetime in a given population.

(c) the birth rate minus death rate. -

(d) ‘the average number. of live births a
woman would have by thé end of her

, chxld beanng age.

Consider the following statements :

‘In Tndia, Non-Banking Financial

e Compames can access the L1qu1d1’cy

‘ Adjustment Facﬂlty window of the
Reserve Bank of India. .

2. In India, Foreign Institutional Investors
can hold the Government Secuntles
(G-Secs). : v '

3. In Indla Stock Exchanges can oﬁ'er
separate tradmg platforms for debts.

Whlch of the statements glven above 1s/are

K correct" o
(2)- 1and2 only

' ®) -3 only

© 1,2and3

(d) 2and3only
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44.

.3 Retail Investors

- below: o
@ land2enly -

3. 'Curjrencysvy@ y -

. Which of the above is/are ,considere_d financial

@ 1oy
| (b) 2and3 only ‘
© 1,2and3 "
(d 1and3only |

In Indla, whlch of the followmg can: trade in
Corporate Bonds and Government Secuntles ?

AT N SR

2. {‘.P_eiigion‘Fu_nds S

Select the correct answer using the code given

2and 3 only 4

(b)
(c) - land3only
d 1,2and3

Consider the following : . L
1.. Exchange-Traded Funds(ETF) 3

2.« Motor ve_l_licles -

instruments ?. .

46.

: economy, con51der the foll win

Wlth reference to the sectors of the Indla.n
i gpau"__'.:':__._,:

Economic activity = Sector

_|1. |Storage of agncultural

- produce :

2. Dairy farm

Priinary 2

3. Mine'ra] exploration ' Tertiary

% Secondary o

4. Wea\iing cloth =

cotrectly matched ?.

9. 'Corﬁ.grain'- i

How many of the palrs glven above -are

(a) -Only one- -
(b) - Only two-

© Onlythree

@ Allfour _.

Consider the following materials: . .

1 <A-g‘ricultural r_esid.ue'_s.‘ﬂ-

‘3. Wastewater treatment sludge )

.4 - Woodmlllwaste

A ".’Whlch of the above can be used as feedstock

" (19-A)

for producmg Sustamable Av1at10n Fuel ?

(a) .1 and 2 only

(b_) 3and 4 only
© 1,2,3and4

(dj 1,3 and 4 only
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- With referen(:e to tbe rile/rules’ 1mposed by
the Reserve. ‘Bank of India while. treating
forcign  banks, consider the following

Category ‘ statements :

1. There is no minimum . - capital

“|Parmer's piotiéh Workmg capital
EE . e — rcqum,mont for wholly owned banking

T

|2, [Computer = |Fixed capital subsull.mcs inIndia.
’ ‘ 2. For wholly owned b'anking.subsidiaﬁes

in India; at least 50% of the board

3. | Yarn uscd by the ; - |Fixed capital

weaver ' W
“ 4 Petrol i .\ | i Workmg lcapita[, - members should be Indian nationals.
L . Whlch of the statements glven above 1s/are
Ho'w"‘r‘nany' of the above pairs are. borrectly correct ? '
matched ? . : : e ' @ 1only

“(b) Z2only

(a) Only one
(¢ Both1and2

) (_b) Oy firo = ; e N @ Neither 1 nor 2

(¢)  Only three

(d All four N 1Y _
| 50. With  reference to .Corporate Social
 Responsibility (CSR). rules in India; consider

) e e i,;';_the followmg sfatements .

48. ~ Which one of the foiloﬁvihg-%vdr&s/phreées' is |- 1.. CSR. rules Spec1fy that expendltures
most appropriately -“used : to denote “an ... that beneﬁt the company dn'ectly or its
interoperable network of 3D virtual Worlds i 'A:employeesmllnot be con51deredas CSR.
that can be accessed S?multaneously by [* act1v1t1es ERCE g
‘millions of users, who can exert property | - 9 CSR “sules do not 5 pecxfy minimum
righ te overvirtual items”? - o ‘ ' spendlng on CSR activities.

(2) Big data analytics " Which of the statements glven above is/are

‘ correct ?
(b)  Crypiography ' PP o (a) | 1only
| | (  2only

() Metaverse ,
(¢c) Bothland2

Ad) . Virtual matrix - ' (d) Neither1nor2 .

~ KSPC-P-GSPO " ' (21-A)
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Consrder the followmo statements

§ ] Statement I: : :
If the United States of America (USA) were to
default on_its debt, holders of US Treasury

" Bonds will not be able to exerclse thelr claims
0 réceive payment.

e Statement 11 :
The USA Government debt is not backed by
. : any hard assets, but only by the faith of the
N Government . )

* e ‘Whlch one of the followmg is correct in

) respect of the above statements ?

(a) Both Statement-I and Statement II are
correct - and  Statement-II ° explalns
Statement I ’ .

(b) Both StatementI and Statement I are

correct, but Statement- II does not explam g

" Statement-I

(c) Statement-I is correct; but Statement 11 is
" “incorrect

(d) Statement-I is mcorrect but Statement II
is correct

52. Consider the following statements o

Statement-I : . :
. Syndicated lending. spreads the r1sk of
borrower default across mnltlple lénders.

. Statement- 1l :

~ The syndlcated- loan can .be a: fixed |

" amount/lump sum- of funds but cannot be a
-+ - credit line. - -

Which one of the followmg is correct in| - <y

respect of the above statements ? ARt

(a) Both StatementI and Statement- II are
..correct - and #:Statement-IT.~ explams
Statement-I

(b) Both Statement-I and ,Statjement—'II are | -

correct, but Statement-Il does not
explain Statement-1 o

"(¢) Statement-I is correct, but Statement- It

is incorrect | p
(d) Statement-I is incorrect, but Statement-IT
is correct

KSPC-P-GSPO

2. 83

54.

4t s

v

Consider the. followmg statements in; respect

of the digital rupee

- 1. Ttis a sovereign currency 1ssued by the '

Reserve Bank ~of India" (RBI) in:
ahgnment with 1ts m(metary pohcy

2. It appears as a llab1lrty on the RBT's

balance sheet..

) '3. - Ttis msured agamst Inﬂatlon by its very

desrgn

freely connertilile v aéainst

commercial‘ bank monéy-and cash.

Which of the statements ‘given'.above are

correct ? .-

(@) . 1and?2 only
(b) 1 and 3 only

©. . 2and4on1y

@ - 1, 2and4

With .reference to ancient India, Gautama

Buddha was generally known by wlnch of the

following epxthets 2.

1. . Nayaputta s

3. Tathagata

Select the correct answer using the. code given

. .‘below

(23-A)

(@ lonly -
(b) 2and3only

© L2md3

(@ None of the above are epithets of
'Gautama‘_Buddha &

ST
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56.

KSPC-P-GSPO

' . 5.

@

"Consider the t'ollowing inforniation : e e :
.Archaeologzcal State . | Description
" |Site B ' ' nl

1.| Chandraketugarh| Odisha ~ |Trading
| . v v,lA"Poxttown
.| Inamgaon Maharashtra Chalcolithic )
‘ 2 site“ M
.|Mangadu I Kerala . 11 Megahthlc
l”“-'sme
|Salibundam  |Andbra  |Rockecut
Pradesh  ~ |cave™
shrines

S (a) _1 and 2
® 2 and 3
(© 3and4

In which of the above rows: is the g1ven

mformatlon correctly matched ?.

1and4

gave bemﬁssbn to the Portuguese to build a
fort at Bhatkal ? - -

(a) . Krishnadevaraya.
(b) Narasimha Saluva

Muhammad Shah ITT
o

(c)

(d)  Yusuf Adil Shah

57.

158

(25-A)

. Cornwalhs

Wlth reference to revenue collectlon by
- the

consnd_er following -

statements

1. ',Under the Ryotwan Settlement e

3 revenue collectlon the peasants were .
B exempted from revenue payment 1n case
of bad harvests or natural calamities.

2. Under the Permanent Settlement in
o Bengal, if the Zammdar falled to pay his
. revenues to the bbaw, on or before the '

his Zammdan

'- Which of the statements glven above is/are .

correct ? ‘
@ Lonly
0) 2 only
~ (@) Both1land2 |
@) Neither 1 nor 2

Censider'th_e fol_l‘ovving‘statements :

) 1f There are, no parables in Upam‘shads.

Who of the fol,lowing. rulers of thedieval India | * =7 . Upamshads were composed earher than

the Puranas.

Which of the statements glven above is/are

correct ?

(:i) 1 only

(b) 2only

(9 Bothland2
(d) Neither 1 nor 2
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60.

KSPC-P-GSPO

.Indm is.a. memher o£ the: Intematlonnl

Grains Councnl e

2. A country ncéds to. Be a member of the
-Internntlonal Grams

< &\portmg or 1mportmg rice and wheat :

Which of the statements' given above’ is/are

correct ?
(a)  1lonly
(b) - 2only

(© Bothland?2

(d Neither 1nor2 '.

Which one of thefdllowing was the latest |
inclusion in the Intangible Cultural Hentage :
List f UNESCO? '

(a) Chhaudance -~
(b) Durga puja
(¢ Garba dance.

(d) Kumbh mela

. Council I'of ;

"

|61, Who was thé Provisional President of the

Constituent Assemblyl before Dr. Rajendra
Prasad took over ?
() C. Rajagopaluchéﬁ o
(b) Dr. B.R. Ambedkar
(¢) T.T. Krishnamachari
(d) Dr. Sachchidananda Sinha

62. With referen'ce‘to the Government of India
Act 1935, con51der the followmg statements :

R P (1 prov1ded for the estabhshment of an
All India Federation baséed on the union
of the British Indian Provinces and

Princely States.
2. Defence and Foreign Affairs were kept

-under the control of the federal
legislature. . :
Which of the stabements glven above is/are
correct‘7 2
(@ Lonly )
(b) 2only. -

() Bothiand2
@ Neither 1 nor 2
63. Which one .of the. foﬂqwing i’ a work
 attributed to playwright Bhasa ?.
U (a) Kavyt.ila»r-zl.e{zfan S
O} " Natyashastra
- (0 Madhyama-vyayoga
@ Mahabhashya

64. Sanghabhuti, an Indian Buddhist monk, who )

t’ravelléd to' China at the. end of the
- fourth century AD, was the author of a
commentary on: .

(a) Prajnaparamita Sutra
()  Visuddhimagga
. () Sarvastivada Vinaya‘

(d) Lalitavistara

(27-A)
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i 'Conmder the following propertiee ‘includcd

in the World Herntngo Llst rc]cnsod by
UNDSCO

. 1. Shmltlmkctnn

66.

"~ 4. * Mahabodhi

2. ‘lel-kl-V{lV
3. Sacred nsembles of the Hoysalas

Temple Cor_riplex at

g Bodhgqya

How many of the ‘above propertxes were
included in 2023 ?

(a) Only one

(b)  Only two

© _ Only three
All f0\1‘1r

W

As per - Article 368 of the Const1tut10n of Indla

‘the Parliament may amend any prowsmn of

the Consti_tu‘mon by way of :

1 Addition.

KSPC-P-GSPO

B, .. Variation .

) 3 Repeal :

below

(@) land2only

(b) 2and 3only

(C). 1 and 3 only

(d  1,2and3 [

Select the correct answer usmg ‘the code given |

67.

68.

&S

2 (d)

-

Consider the following countries :

/

1. Italy . e &
2. Japan '
.38.  Nigeria

4. ‘ South Korea
South Africa

Which of the “above'countries are frequently
mentioned in- the media for their low birth

rates, or ageing populatlon or dechnmg

populatwn 7
(a) 1,2 and 4
®» 1,3and5
(© 2and4only
3 antl 5 onl5'"

Which of the following statements are correct

in respect ofa Money Bill in the Parliament ?

1 Artlcle 109 mentlons specwl procedure
“in respect of Money Bills.
2. A Money Bill 'shall not: hejintroduced in
' the Councll of States. '
3. The Rajya Sabha can elther approve the |
Bill or suggest change_s but cannot reject |
it. SRarel P '

4. Amendments to a Mon‘e}; Bill suggested

(29-A)

N by the Rajya Sabha have to be accepted
‘by the Lok Sabha.

: Select the answer using the code given below

() 1land 2 only
| (b)'.v 2and 3 only

() 1,2and3

(d) | 1,3and 4
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70.

KSPC-P-GSPO

thch of the followmg ls/are correctly
matched in terms of equlvalent Tank in the

three services of Indlan Defence forces ?

v Army Auforce Navy
1. |Brigadier - [Air Commander
‘ "~ |Commodore v
2.| Major AirVice  |Vice Admiral
| |General |Marshal - R
- 8. | Major Squadron “|Lieutenant
= Leader . - (Commander °
4. |Lieutenant |Group  [Captain ==
Colonel Captain | o

Select the correct ansveer using the code given |

below :

(&) land4

® . land3 -
() 2,3and4 .
@ Bonly

The North Eastern Council (NEC) was
established by the North Eastern Council Act,
1971 Subsequent to the’ amendment of NEC

) Act in 2002 the Counc1l compnses which of

the followmg members ?

_. lv.__ . _Governor of the Constltuent State ,'

2 ,_ChJef Mlmster of the Constltuent State o

3. “Three Members to be nommated by the
PreSIdent ofIndia "~

4. The Home Minister of India

Select the correct answer usmg the ode gwen

below : ‘

(a) 1,2and 3only -
(bj -1, 3 and 4 only -

(¢ 2and4only |
(dj "~ 1,2,3and 4 .

|71

72.

73,

(31-A)

. amends '_ the
‘ Constltutlon to include whlch of ﬂw folIowmg

‘o

”How many Dehm1tatxon Commlssmns have"'

been constltuted by the Government of Indla
till December 2023 2 -

(@ One -
b Two, - .
(). Three ©
(d) Four -

"The Constltutlon (71”'t Amendment) Act, 1992 :

Elghth Schedule to the

lano'uages 2 ’ o
1. Konkam e
2. Mampurx
3. Nepali
4. Maithili
' - Select the correct answer using the code g1ven
below
(a) "~ 1,2and 3
®  1;2and4 -
©). 1,3and4

@ 2,3and4

Con51der the: followmg pairs :

: .ItsLeader :

) Party A
'|1. |Bharatiya Jana .|Dr. Shyama Prasad |
. |Sangh ©.|Mukherjee -

-|2: | Socialist Party “

“[C. Rajagopelachaﬁ

3. .| Congress for Tagiivan Ram

Democracy: % .
_|4. |Swatantra Party- |Acharya Narendra
: Dev »
How many" of the above are correctly
" matched ?
(a) Only one
(b) -‘Oniy two

(¢)  Only three

()] All four
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74 Whmh of the followmg statements are correct

: _‘.,-n__lﬁ__~Powers of the

- 76.

@

-

about the. Conshtutlon of India 2

- m ‘Part IX Al of the Oonstitutlon
: Part XVIIT of the Constltutlon

. the Constltutlon are grven in Part XX of
i the Constlfutlon '

~~~~~

: .(_a}- 1,andv2bqn1y L o, & %
(b) 2and3 enly
© (© 1and3 enly'
@ 1,2and3

Wl:uch one of the’ followmg sta.ements 1s

- correct as per the Consmtuhon of IndJa ?

-subJ ect under the Umon LlSt

Corporatlon tax isa State subject under
" the State L1st Cr

Under which of thefollowmg Articlés of the

Constitution of India, has the Supreme Court
of India placed the Right to Privacy ? -

(a) Article 15
(b)  Article 16 |
() Article 19 : , ‘
“(d) Article 21
. KSPC-P-GSPO

-Mumcxpallues ure g1ven

Emergency prowsmns are glven in|" "

Prov1s1ons related to- the amendment of RN

) <,a?. ,

78,

(33-A)

-

What are the dutles of the Chlef of- Defence :

. Staff (CDS) as Head o£ the Department of
, MlhtaryAffmrs7 _ L i

. Permanent Chaxrman of Chlefs of Staff-
Commlttee

L Exerclse thtary command over the
i three Serv1ce Chlefs 1

g Pnnmpal Mﬂitai”f,rf'Advlser to_' Defence

" Minister on all tri-:service matters

-

Select the correct answer using the code g1ven

. below

.1,' 2 331d 3

(b)_' 1and2only 5

(a) Inter-State trade and commerce is. a (c) 2and3on1y "
‘State subject under the State List. L apd i ES TR

() Inter—State Imgratmn is a State subJect - ’
under the State LlSt ! :

_(c)' Inter-State quarantme 1s a Umonf

: i_-:-'Operatiohs,- undertaken ‘by the-Army towards

upliftment of the local population in remote

areas. to mclude addressmg of their basrc

needs is called : oy
(a) | Operatien San_k_alp
(b) Operation Maitri
() . Operatlon Sadbhavana -
’(d) Operation Madad '
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in the world i is between

- The longest border: between any two countries

I nnm‘wmmmmmm@rym;mnmmmmw o " i

80.

- . correct ?

KSPC-P-GSPO

“(b) ;Cbile' and.Argehtina : V. .

- (C) Chma and India -

1 Initially it was an ad-hoc Cornmittee.

"'»‘,\(a,)--':’ Canada and the Umted States of |
Amenca )

@ Kazakhstan and Russian Federation

Wchh of the followmg statements about the

- Ethlcs Comxmttee in the Lok Sabha are |

[

2. Only a Member of the Lok Sabha can
- makea complaint brelating,’ to unethical T
'conduct Aof a member of the Lok Sabha. 1
-2 ThlS Commxttee cannot take up any"
' Vmatter Whlch is sub _]udlce i
j Select the answer using the code'g.iAven below :
(a) 1and2only
(b) 2and3oznly"
() 1and3only 7
@ 1,2and3 :

(35-A)

81,

() land 2 only

82.

-

‘Consider the followmg statements regarding
- ‘Nari Shakti Vandan Ad}nmyam

,1. ‘ Prowsmns w111 come mto eﬁ'ect from the
18'® Lok Sabha.

-2.  This will be in force for 15 &ears aﬁer

becoming an Act.

'. 3 There are prhvisions for the reservation
of seats for Scheduled Castes Women _

within the quota reserved for the
- Scheduled Castes. ;
Which of the statements given above are
correct ? :

" (2 1,2and3

(¢ 2and3only

(d  1and3only

thch of the foHowmg siatements about

‘Exerc1se Mltra Sha.kt1 2023’ are correct ?

1. . ThlS was a Jomt mlhtary exercise
' between India and Bangladesh

oy 2t commenced in Aundh. (Pune).

. ~8.:.  Joint response during counter-terrorism -

'operatlons was a goal of this operatmn

4. Indian Air Force was a part of this

* exercise..

Select the answer using the code given below :

{a) 1,2and3
(b)'. 1,2and 4
‘(c) 1,3and 4
@ 23and4

2w

o
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83 A Wnt of Prohibition is-an order issued by Lhe
Supreme Court or ngh Courts to

84. Consider the following statements:

1 It is the Governor of the State who
recognizes and declares any community
of that State as a Scheduled Tribe.

2.7 A community ’declar‘e‘d as'a Scheduled“‘
" Tribe in a State need not be 50 in
. another State '

Which of the .etatements giw;en abqve' is/are

correct ? A

(a) ionly

~(b) 2only
(¢) Both1and2
I
(d) Neither 1nor 2 -
KSPC-P-GSPO

(b)

(c)

(d)

(a) A ""g’oVernment:"“"ofﬁccr'.‘“proilibiting~ *him-

from taking a particular action.

the Parliament/Legislative Assembly to

pass a law on Prohibition.

- the lower court prohibiting continuation

of proceedings in a case.

the . Governmenti_ prehibiting it from

following an unconstitutional policy.

s

85. Wlth reference ; to Umon Budget consuier thev. y
following statements : / '

1.

’I‘he Union Finance Mlmster on beha]f of

* the, Prime Minister lays the Annual .

Financial . Statement before both the

" Houses of Perliament.

At the Union level, no demand for a grant .
‘can be ‘made except on the
recommendation of the President of India.

Whlch of the statements glven above 1s/are'

correct ?
() 1 only: - v
(b) 2only:....
. (© Bothland?2
@ Neither Tnor2

86. Who ofthe following is the author of the Bpoks

- (a)
" (b)

(c)

(@

_“The India Way” and “Why Bharat Matters”?

Bhupender Yadav

Nalm .Meh'ta' )

'Shash1 Tharoor
Subrahmanyam dJ alshankar

87. Con51der the followmg pairs :

Country Reason for bemg in the
. : news.
1. |Argentina_ Worst ecogomic crisis
(2. [Sudan War between the  country’s
* - |regular army and
paramilitary forces
3. |Turkey Rescinded its membership
“ |of NATO ‘

How many of the pairs given above are
correctly matched ?

(a)
- (b)
(c)
(@

(37-A)

Only one pair -
Only two pairs.
All three pairs
None of the pairs
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89.

Consxder the followmg statements

Which one of the followhié is correct in

- respect of the above statements ? 2

-(a) Both StatementI and Statement-II are

correct . and Statement II
StatementI '

(b)

correct, but ~Statement- II _does -not
~ explain Statement-I :

(0

is mcorrect
(G

“1s correct

Conmder the followmg statements :

1.  The Red Sea * receives very little

. precipitation in any form. . -

2.. No water. enters the Red Sea from-

rivers.

Which of the statements glven above 1s/are-

correct ?

(@)  lonly

() Zonly
(0 Bothland2
(d) Neither 1nor2

According to the Environmental Protection |.

“Agency (EPA), which one of the following is
“the largest source .of sulphur  dioxide
emissions ? '

“(a)
(b)
(©
@

Loeomotives using fossil fuets
ShlpS usmg fossil fuels
Extractlon of metals from ores

Power plants using fossil fn_els :

Both StatementI and Statement—II areA

StatementI is correct, but Statement 11

Statement-I is mcorrect but’ Statement g

(39—

91.

’

_ Consi&er, the fol,lowing"'statements ]

) StatementI L

There is 1nstab111ty and worsemng secunty

: srtuatlon in the Sahel regxon

Statement-II

", There have been military takeovers/coups

Statement I: : .
~ Sumed pipeline is a strateglc route for' r
& —Persian-Gulf oil and natural ¢ gas- shlpments to-f- - -
Europe
_Statement II: ;
~ Sumed plpelme connects the Red Sea Wlth
“the Mediterranean Sea.

explams' ¢

92.

A)

d’état in several countries of the Sahel region
_in the recent past. :

- Which one of the followmg is correct in
. Tespect of the above statements ?

(a) Both Statement—I and Statement II are

~ correct and - Statement-II explams
: Statement I ’
(b) Both StatementI and Statement-II are
- .correct,” but - Statement-II does nof
. explain. Statement-I
(© Statement~I 1s correct but Statement—II
. is mcorrect
o (d) ‘Statement I is mcorrect but Statement—lI

is correct

~Consider the following statements :

Statement-I': 3
India doés not’ unport apples from the United -

- States of America.

StatementII
In India, the law’ proh.lbrts the impoit of

_ : Genetically Modified food without the
* approval of the competent authority.

Which ‘one of -the following is correct in
respect of the above statements ?

(a) Both Statement-I and Statement-II are

- correct and - Statement-Il  explains
Statement-I B

(b). Both . Statement-I and Statement-II are

correct, but Statement-II does not explain
Statement-I :

(¢) Statement-T is correct, but Statement-II is
incorrect

(d) Statement-I is incorrect, but Statement-1I
is correct
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Wlth reference to’ the Speaker of thé’
Lok Sabha con51der the followmg statements

Whlle any resolutlon fo the removal of the

Sﬁker ot thie Lok ‘Sabha‘”‘s"under"

consid atlon

- _He/She shall not pre51de

9. " He/She shall not have the nght to speak

‘,(a)

@

3. - dHe/She shall not be entltled to vote on

2 the resolutlon m the ﬁrst mstance

;i_".Whlch,of the statements glven above 1s/are-

~’correct ?.
l only '
(b) 1land2 only

© 2and3 only

95

"1 96.

1,2and3 -
94, —Wlth reference to the Indian Parhament
consider the following statements : _ :
1 Abill pending in the Lok Sabha lapses
i on its dissolution. o
2. A bill passed by the Lok Sabha and
g pendmg in the Ra)ya Sabha lapses on.
S “the dlssolutmn of the Lok Sabha
summon the Houses to a JOll'lt sxttmg -
* lapses’ on the dissolution cof _t_he
Lok Sabha. :
) _Whlch of the statements glven above is/are
correct 7. Sl B s
(a_) 1.only
® land2
(o) _7 2and3
@ 3only
- KSPC-P-GSPO i

(41-A)

' Con51der the followmg statements

. Statement I

L
-

With referenice’ to the"'Parliament of :-Ind'ia,

+ consider the following statements

Sk M Prorogatlon ofa House by the President

of India’does not require the advme of
the Counc11 of Ministers.”

2. Prorogatwn ofa House is generally done .
- after the House is adjourned sine die
but there is no bar to the President of

India prorogating the House which is in
session.

+ 3. Dissolution of the Lok Sabha is done by

the’ President of India who, save in
exceptional  circumstances, does so on
* the advice of the Council of Mjnisters

. Which of ‘the statements given above is/are .

correct ?

(2) lonly

() land2

() 2and3

@ Bouly o

The European Parhament approved The

) Net Zero Industry Act recently

V.Statement T : -
~ The- European "Union mtends to achieve

carbon neutrality by-2040 and thérefore aims

Yo develop all of 1ts own clean technolooy by
" that time.- "

" Which one'“’off‘fthe follo'\ving ls.:eorrect in
- respect.of the above statements ? .

(a) Both.StatementI and- Statement-IT are
correct -and  Statement-Il - explains
~Statement-T - ;

(b) Both Statement 1 and Statement Il are
correct, but Statement-II does not explain
Statement I

(c) Statement-I is coxrect but Statement«H is
mcorrect :

(d) Statement-I is incorrect, but Statement-II
is correct
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97.

__Recently, Venezuela has uchlcvod a rapid

98. -

KSPC-P-GSPO

“Consider the following statements :

" recovery from

. Venezuela has the world’s lmgest oil reserves.

2. Under the bcheme Cadastral Maps are

Statement-I :

ltS CLOIIOHIIC LI‘lSIS ﬂﬂd

succeeded in preventing its' people from
fleeing/emigrating to other countries.

Statement-II :

Which one of the followmg is correct in
respect of the above statements ?

(2) Both Statement-I and Statement-II are
explains |

correct and . Statement-II
* Statement-I i

(b) Both Statement-I and Statement II are
correct, but Statement-II . does not

explain Statement I
(c) Statement-I is correct but Statement- 1T
is mcorrect )
(Q) Statement Iis mcorrect but’ Statement 1I
is correct :

W1th reference to the Dlgltal Indla Land
Records Modermsatnon Programme, con51der
the followmg statements i

1. To melement the scheme the Central .

Government provxdes 100% fundmg

‘ d1g1tlsed

3. An 1mt1at1ve ‘has’ been undertaken to.|

transliterate the Records of Rights from
local language to any of the- languages
recognized by the: Constltutlon of India.

Whlch of the statements glven .above are
correct ?

(a)  1and?2only °

(b) 2and 3 only

(¢ land3only - |
(d) 1,2and3

L

|99, With referénce “to- the ‘Pradhan Mantri

Surakshit Matritva ._Ahhiyan’, consider the

following statemenits ;

L This scheme guarantees a minimum .,

" package of antenatal care _services to
~'women _in their “second and third -
tnmesters of pregnancy and six months
post- -delivery health care service in any
' govemment health facility.
2. ‘Under this scheme, private sector
health -care providers of certain
. specialities can volunteer to provide
services' at nearby government health
facilities.
‘Which ‘of the statements given above 1s/are
_correct?
(@ 1 only

‘)  Zonly

" (© Bothland2
@ Neither1n0r2. -

100. With refefenee to the Pradhan Mantri Shram

- Yogi Maan-dhan  (PM-SYM) YOJana ‘consider
the followmg statements

1. .‘The entry age group for enrolment in
~ the scheme is 21 to 40 years. -

' A_ 2. Age specific contnbuti_onv shall be made

‘ by the beneﬁclary

» 3. Each subscnber under. the scheme shall

._.'recelve a. minimum pension of ¥ 3,000
per ‘month - after attaining the age of

60 years.

4. Family pension is applicable” to the

spouse and unmarried daughters.

Which of : the statements given above 1slare
correct 7 .

(@) 1,3and4 -
(b) 2and3only
(¢) 2 only
d) - 1,2and4

(43-A)
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